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Announcements

» Assignment 5 1s due Thursday, November 11

* Watch videos and online quiz for Tuesday

e Exam 2 1s November 16
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Q1: How do I get the hare to turn around?

 “1his| addKeyPressListener add detail

 dectare procectre KeyPressed | [event isLeter| | event isDigt] | event getkey|

do in order

E turn 510 add detai ]
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Q1: How do I get the hare to turn around?

 “1his| addKeyPressListener add detail

declare procedure KeyPressed ):: isLetter] ):: isDigit] I: getHey]

= |doin order

E turn 510 add detai ]

* Press any key and the hare will turn around

* Not a good way to do this. Can’t use any
other keys for anything else.
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Q2: What happens if I press letter A?
If I press the letter T?

© “this) addKeyPressListener add detail

declare procedure KeyPressed | [event isLetter| | [event isDigit|

© |doin order

|f):1 isLetter] i5 true then

If):: isl{ey[ﬂ] is true then
n turn 510 add detai




Q2: What happens if I press letter A?

If I press the letter T?
* Letter A — p1g turns

» Letter T — pig turns, then panda turns

~ (©this) addKeyPressListener add detail

dectare procedure keyPressed | Cevent isLetter| | Cevent isDigit

= do |n order

|fi- |sLetter] is true then
[- turn (RIGHT) , 510/ add detail |

____________

____________

Ifi- |s+{ey[fﬂ] is true then
[ turn (510 add detail |

____________

____________




(Q3: What happens if press letter A?
If press letter T?

‘% (“1nis| addKeyPressListener add detail

declare procedure KeyPressed | [event isLetter| | Tevent isDigit| [

‘do in order
'f): iSLEﬁEF] s true then
E turn . S1.0  add detail ]

“else

'f): isHeyEfj] is true then
5 turn (510 add defail |
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(Q3: What happens if press letter A?
If press letter T?

* Letter A — p1g turns once

* Letter T — p1g turns once
“this| addKeyPressListener add detail

declare procedure key Pressed | Cevent isLetter| |- Cevent isDigit] [

= | do in order

|f)::- |5Letter] is true then
| (ihispid tum CRIGHT , 510/ adddetail |

§§§§e|se

= |f)::- |5Heyljl] IS true then
| [ Ospansa wm (RGHT) | 510 adadetail |

____________




Q4: What does Combine and
Fire Multiple do?

this| addKeyPressListener, multipleEventPolicy [ COMBINE| |, heldKeyPaolicy I::FIF?.E_r-.ﬂULTIPLE]

declare procedure KeyPressed | [event isLetter| | [event isDigit| [ [event getkey| |

cln |r1 arder

|f):i- |5Heym:| is true then
* (thiswhiteRabbif  mowve CRIGHT] , 50.25  add detail ]

else
: If): isl{ey] is true then
;;;: [ (this.whiteRabbif  move . 50.25  add detail ]
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Q4: What does Combine and
Fire Multiple do?

* Hold the key down and the whiteRabbit
moves a lot faster until you release the key!

“this| addKeyPressListener, multipleEventFPolicy L COMBIMNE |, heldKeyPaolicy I::FIFE'.E_ML.ILTIF'LE]

] event isLetter] ] event isDigit] ] event getl{ey]

i declare procedure KeyPressed
do |n order

|f)::- |sl{eym] is true then
E (this whiteRabbit  move CRIGHT| | add detail ]

else

;E;E 'f)::- ISKEF-] is true then
i [ (this.whiteRabbit  move [FORWARD| , =0.25  add detail ]

____________

____________
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Q5: What happens when ..

1:15 “this addcmhshnnsmrtustener[:- hunmes] [:new SThingll { (this.whiteRabbif, (this. panda]}}

- Cevent getSThingFrom3etB |

declare procedure collisionStarted [ [event getSThingFromsSeta
[dn in order

E (this.whiteRabbit  turn CRIGHT] | 1.0,  add detail ]

a) panda collides with a bunny?

b) whiteRabbit collides with a bunny?

Note: bunnies 1s an array of bunnies 1
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QS What happens when ..

5 [ this add{:nlllslnn.‘itartu;tener[:- hunmes] [:new SThingll { (this.whiteRabbif, (this. panda]}}

- Cevent getSThingFrom3etB |

declare procedure collisionStarted [ [event getSThingFromsSeta
[dn in order

E (this.whiteRabbit  turn CRIGHT] | 1.0,  add detail ]

a) panda collides with a bunny?
WhiteRabbit (W.R.) turns right

b) whiteRabbit collides with a bunny?
whiteRabbit turns right

Note: bunnies 1s an array of bunnies 12
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Q6: What happens when
a) panda collides with a bunny?
b) whiteRabbit collides with a bunny?

c) pig collides with a bunny?
d) whiteRabbit collides with panda?

= (othis addtnllmmn&tarthstener[:. hunmes] [:newSThing[l{Cf[his.whiteﬁabbiﬂ, Cf[his.panda]}] z

deciare procedure COlisionStarted [:] event getSThingmeSetﬁ.] [:] event getSThingmeSetEl]
. |doin order

n{[(i getSThingFromSetB| == Cihis.whiteﬁabbiﬂ] is true then

- [* (this.whiteRabbit ~ say fhello}  add detail ]
else

|f):[[:- getSThmgFrnmSetEl] —}— this.panda] is true then
{ this.pandal  say SThello}  add detail ]

“else

E say fhello]  add detail ]




Q6: What happens when

a) panda collides with a bunny?

b) whiteRabbit co.

c) pig collides with a bunny?

d) whiteRabbit co!

llides with a bunny?

1lides with panda?

Panda says hello
W.R. says hello
Nothing happens

Nothing happens

 Chis add{:ﬂllir.iun.‘itartLiﬁtener[: .bunnies] ,[:newSThing[l{Cf[his.whiteﬁabhiﬂ, Cthis_panda]}}

deciare procedure COlisionStarted [:] event getSThingmeSetﬁ.] [:] event getSThingmeSetEl]

do |n nrder

Cihis.whiteﬁabbiﬂ] is true then

|f ):[[::- getSThlngmeSetEl]
- | Cthis.whiteRabbit - say JThello’

add detail ]

§§§§e|se

|f ):[[:- getSThmgFrnmSetEl]

this.panda ] is true then

L F say Jfhello]

add detail ]

“else

E say fhello]  add detail ]




Q7: Clicking on an array object

* There 1s an array of bunnies. When a bunny
collides with panda, you want the bunny
that collided with the panda to say hello and
turn around once.

 Why doesn’t this code work?

“this| addCollisionStartListener [ new SThing[] { (this.pandal ]| , [ Cthis| .bunnies|’  add detail

declare procedure COlisionStarted [:] event getSThingFrnmSetﬁ.] (:] event getSThingmeSetEl]
'do in order

E say sfhello]  add detail ]
| Cthisbunnyd  turn [RIGHT , 510  add detail |

L,
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Q7: Clicking on an array object

* There 1s an array of bunnies. When a bunny
collides with panda, you want the bunny
that collided with the panda to say hello and
turn around once.

 Why doesn’t this code work?

Bunny4 says and turns

“this| addCollisionStartListener [ new SThing[] { (this.pandal ]| , [ Cthis| .bunnies|’  add detail

declare procedure COlisionStarted [:] event getSThingFrnmSetﬁ.] (:] event getSThingmeSetEl]
'do in order

| Chisbunnyd) say Jfhello]  add detail |
| (thisbunnyd turn [RIGHT] , 510  add detail |

L,
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Q7: Clicking on an array object

* There 1s an array of bunnies. When a bunny
collides with panda, you want the bunny
that collided with the panda to say hello and
turn around once.

* Can you change the code to this?

“this| addCollisionStartListener [ new SThing[] { (this.pandal ]| , [ Cthis| .bunnies|’  add detail

declare procedure COlisionStarted [:] event getSThingFromSeta even getSThingmeSetEl]

do in order

£
.

add detai

say
"RIGHT , 1.0 add detai ]

L,
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Q7: Clicking on an array object

* There 1s an array of bunnies. When a bunny
collides with panda, you want the bunny
that collided with the panda to say hello and
turn around once.

* Can you change the code to this? NO!

“this| addCollisionStartListener [ new SThing[] { (this.pandal ]| , [ Cthis| .bunnies|’  add detail

declare procedure COlisionStarted [:] event getSThingFromSeta even getSThingmeSetEl]

do in order

£
.

add detai

say
"RIGHT , 1.0 add detai ]

L,
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Why not?

e This code: [ [event getsThingFromsets)

— Is an Sthing so you CANNOT drop 1t over a
type bunny

* Instead, you have to look through the bunny
array and compare each bunny with with an
Sthing. When you find the bunny that was
clicked on, then you just refer to that bunny
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Find bunny clicked on 1n array

* Write a loop to iterate through the bunny
array, for each bunny in the array, check to
see 1f 1t 1s the 1tem clicked on.

“ (“this| addCollisionStartListener [ new SThingll{ (this.panda § , [ (inis  bunnies|  add detail

declare procedure COllisionStarted [:1 event getSThingFrnmSetﬁ.] (:] event getSThingFrnmSetEl]

‘do in order
. fnr each { Bunny )“someBunny in I: .hunnies]

ﬂ[({ getSThingFromSet| == ] e
LB say sfhells) add detail |

e — 510 adddetail |




Find bunny clicked on 1n array

* Write a loop to iterate through the bunny
array, for each bunny in the array, check to
see 1f 1t 1s the 1tem clicked on.

“ (“this| addCollisionStartListener [ new SThingll{ (this.panda § , [ (inis  bunnies|  add detail

declare procedure collisionStarted [ [event getSThingFromSeta | (- “event getSThingFromSetB |

= | doin order

for each { Bunny )

is true then

COl

s else
= e B
iR drop statement here I
B A ="
loop
21
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Find bunny clicked on 1n array

* Write a loop to iterate through the bunny
array, for each bunny in the array, check to

see 1f 1t 1s the 1item clicked on.

“ (“this| addCollision StartListener [ new SThingll{ (this.panda § ', [ (ihis| " bunnies|

ad

d detail

declare procedure COllisionStarted E: getSThingmeSetA] E: getSThingFrnmSetEl]

do in order

;EEffnr each { Bunny )¢ “someBunny in E:- .hunnies]

|f ):[C:- getSThingFromSet8
say Jfhello]  add detail |

| is true then

someBunn

turn CRIGHT , 510/ add detail |

do things 1f

Have someBF

nny

1t matches

22
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Find bunny clicked on 1n array
* Write a loop to iterate through the bunny
array, for each bunny in the array, check to
see 1f 1t 1s the 1tem clicked on.

* (“this| addCollision StartListener [ new SThingll{ (this.panda J ', [ Cihis|" bunnies|"  add detail

declare procedure COllisionStarted E: getSThingmeSetA] E: getSThingFrnmSetEl]

do in order

;EEffnr each { Bunny )¢ “someBunny in E:- .hunnies]

i |f):[(::- getSThmgmeSetEl] —— ] istruethen‘
E say Jfhello]  add detail |

| CsomeBunny turn CRIGHT , 510  adddetail |
——————————— . FINAL CODE

ﬁglnnp ‘ 23
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Class Today

* A game with collisions
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